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(1) “FREEHmE (Biik)
D X 0.9576 + @ X 0.0466
= 44,960 X 0.9576 + 56,070 X 0.0466
= 45, 666. 558
— 45,6701 (10 A D v d 4 MU L A)
(2)  UBMfiks Z B (Bith)
SSMEEEUBHMES — SFERIUEHMlAS
= 83,350 — 45,670/
= 37,680M
— 37,600/ (100 A Dtz 01 v #0)
(3)  JRUBHE AR BT - —f% T AN FEERG R (BlA)
—0.081 X JFEHMlFSZAERE ~ 100 X (1 + HEFE)
—0.081 X 37,600 = 100/ X (1 + 0.10)
—33. 50164
—  —33.51M  UNEURER 2 ARG O ¥ 2 2 D/ S W IFIZET 0 #5T0)
(4)  JRUBHE R EA -+ RS PRIERIER (BiiA)
—0.081 X JFUBHMIFsZEEE — 100/ X 1.2 X (1 + WHERFR)
—0.081 X 37,600 = 100 X 1.2 X (1 -+ 0.10)
= —40.20192H
—  —40. 211 UNEURER 2 AR O ¥ 2 20D/ S W IFIZET 0 #5T0)
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(1) ECHEM - NUEBHOBE S ZmT (28EH4e) O5Ee Bidh)

K FERHEA ﬁé%ﬂé&jﬁﬁ
(MH/7) (F9/m)

A Oni ~ 20m 669. 00 113.30

B 21m ~ 200ni 1, 647. 00 64. 40

C 201m ~ 3, 441. 00 55. 43

(2)  FHEHE AR DOEA (BliA)
(EREARIE + (EEHEERMm XHEHE) X (1 + HEFER)
= (1,647.00/ + 64.40[/m X 29m’) X (1 + 0.10)
3, 866. 064
— 3,866 (1 FIARIGEOIEE Y #7)



